1.
Practice Kinetic Quantitative Problem:

2.
Practice Kinetic Qualitative Problems:
[image: image1.png]The reation between HBr and O is believed 1o accurin 3 steps:
HEr + O, —> HOOBX
HOOE: £ HEr - 2HOBE
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2) Wit 2 balanced equatin for e overll eacton
) 1dentity e nferedints
) Fom the mechanisa, te e = KIHEXO,] Which s the 1 - deemining sip?
) Why does merasing temperatre nerase 2




[image: image2.png]Kinetic Quantatative Solution
) When[A]is doubled the rate quadruples so A is 2nd order
‘When[B] is doubled the rate doubles so B is 1storder
rate=K[AP[B]
b) 200=k(2402(120)
k=289 M2hr1
<) rate=(289(0140)2(1.35) ~0765 M/ ir
3mol C
2 mol &
3 mol C
1mol B
final [C]=360 M; if one answer was smaller
than that would be the answer
&) rate of slow step for1): rate = K{Y JA]=K[BIA]
2) rate= K[YTa]=K[AP[B]
because the slow steps rate of 2) agrees with the observed rate
mechanism2is the correct mechanism

d) 240Mof & x =360 M of C

120 Mof Bx =360 Mof C





[image: image3.png]Kinetic Qualitative Solution
) Multiply step 3 by "2" 50 the HOB#'s will cancel
After adding and cancelling you will get
4HEr + O, — 2H,0 + 2Br,
b) HOOBr and HOB are the intermediates because they ate
fottmed in one step but used up in another
<) rate for step : rate = K{HEXIO, ]

2 rate = K{HOOBITHEr = KIHBr P10, ]

3 rate = {HOBr[HBr)= K{HBr [0, ]
step 1 is the slow step because its rate agrees with the observed rate.
d) Increasing the temperature gives more molecules the needed
activation energy so more molecules will react
Using Arrhenius’ equation, increasing T makes the exponent
less negative therefore increasing k.




